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keras.models import Sequential
keras.layers import Dense

classifier = Sequential()

classifier.add(Dense(input_dim = d, output_dim = 32 , init = ‘'uniform®', activation = 'relu')})
classifier.add(Dense(output_dim = 16, init = ‘uniform’, activation = "relu’))
classifier.add(Dense(output_dim = 1, init = 'uniform’, activation = 'relu’))
classifier.compile(optimizer = 'adam', loss = 'binary crossentropy’, metrics = ['accuracy'])

classifier.fit(train_set, y_train, batch_size=58, nb_epoch=58, validation_split = 8.1)
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classifier = Sequential()

classifier.add(Dense(input_dim = d, output_dim = 32 , init = 'uniform’, activation = 'relu')})
classifier.add(Dense(output_dim = 16, init = ‘uniform’, activation = ‘relu’))
classifier.add(Dense(output_dim = 1, init = ‘"uniform’, activation = "relu’))

classifier.compile(optimizer = , loss = 'binary_crossentropy’, metrics = ['accuracy'])

classifier.fit(train_set, y_train, batch_size=58, nb_epoch=58, validation_split = 8.1)
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classifier = Sequential() |TE"5t accuracy: @.938
classifier.add(Dense(input_dim = d, output_dim = 512, init = ‘uniform’, actiwvation = 'relu’))
classifier.add(Dense(output_dim = init = 'uniform’, activation = 'sigmoid’))
classifier.add(Dense(output_dim = init = 'uniform', activation = 'sigmoid'))
classifier.add(Dense(output_dim = 1, init = 'uniform’, activation = 'sigmoid'))
classifier.compile(optimizer = 'Madam’, loss = 'binary_crossentropy’, metrics = ['accuracy'])
classifier.fit(train_set, y train, batch_size=58, nb_epoch=58, wvalidation_split = 8.1)
(2 ) batch size % epoch
i {5 2% P34 & batch size % epoch » #% % = i” gL AT EF O

% 5 rﬂl}L ,,4 ‘x’a—:f@;}:‘_‘;’*i °

THaAkEY

EERZ S A B S F R A e 8h% Bt i 1) 93% 0 A e
R Y 4 et i Rl BT ¢ B PR blag e
T4 A ﬁfrfv§:4§ °

FABSRLE OB AR A R TA R S  A
T AT RS T ASLGS 2§ - ko R 6 & BIER B Y
R AR o [ SRS R R R A B v 5] B kil
SR - B MGEHBEEV G RN L ARG Y B

LTS R A




